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Kids Puzzle Page
WORDFIT ANSWERS

The watermelon costs £6!

THE CM CONNECTION
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PUZZLE ANSWERS

Word Wheel
Answer: VERBALISM

Wordladder

Here is one possible solution (others
may exist)

COAL
COOL
TOOL
TOLL
TELL
FELL
FULL
FUEL

Trial

3 Letters 4 Letters TEES
EEL EELS 5 Letters
LEE ELSE ELECT
LET LEES SLEET
SEE LEST STEEL
SET LETS 6 Letters
TEE SECT ELECTS

Across: 1 STRAWBERRY, 6 RASPBERRY, 7
MANGO, 8 CARAMEL, 9 FUDGE, 10 BANANA, T
MINT, 12 TOFFEE.

Down: 2 BUBBLEGUM, 3 LEMON, 4 VANILLA, 5
CHOCOLATE.
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CAN YOU TELL ME WHICH BALLOONS
| NEED TO SO THE REMAINING BALLOONS
ADD TOGETHER TO EQUAL THE TOTALS ABOVE?

-

DRAWING HORIZONTAL OR.VERTICAL LINES AS BRIDGES,
CAN YOU LINK THE ISLANDS TOGETHER &
Tae BRIDGES CAN NOT CROSS 'fﬂ\LD;FJICH ISLAND MUST HAVE THE SAME NUMBER
OF BRIDGES CONNECTED TO IT AS THE NUMBER. ON THAT ISLAND, .
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